19 RHOBH(ADER)

g Alcs: 237
(—10)* +1= 2% +4=
gD _ o 32 7 =
(-10)°) - (-9) = 1> =7=
(9"~ (-6) = (-10)" +6 =
2-2= (-8)* —4 =
7 —(—4) = 10-(=3) =
(=5 +(=9) = (6" = (-6) =
7D 4 (-7) = (9D -2 =
(—10)? + (-8) = oD —6=
(—4)* -9= 102 + 6=
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HEHROEM(ADER)

(—10)* + 1 = 101

127

g

63
)= (1g)

89 9
10D —(—gy= = =g
(—10) =1 "%7

_9) D — ()= 2 = 53
(9= (6= > = 55

2-2=0

7 —(—4) =53
_ 46 1
)V + (9= (%)= (93)

- 342 48
TP 4N =(75) = (o55)

799 99

10V 4+ (=)= (-2 = (-7
(100 +(-8) = (~155) = (T

(—4)° -9=7

AICG: A7

2°+4=38

62 8
(2) _ 7= (2 = (—6-
37 -T=(75)=(65)
1> =7=(-6)

(—10)2 +6 = 106

(—8)° —4 =60
10— (-3) =13
6D — (=)= > = 52
(76" "~ (76)= =5

Loy g (]
9 -2= (1) = (2)
) g (-3 2 (—5d
o 6= (-22) = (-5;)

1 +6=7
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